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>> help clear
CLEAR Clear variables and functions from memory.
CLEAR removes all variables from the workspace.
CLEAR VARIABLES does the same thing.
CLEAR GLOBAL removes all global variables.
CLEAR FUNCTIONS removes all compiled M- and MEX-functions.

o

help

CLEAR ALL removes all variables, globals, functions and MEX links.
CLEAR ALL at the command prompt also removes the Java packages import
list.

CLEAR IMPORT removes the Java packages import list at the command
prompt. It cannot be used in a function.

CLEAR CLASSES is the same as CLEAR ALL except that class definitions
are also cleared...
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